bh15
B -
B E W EE EEE

00z 10Z4% + 5192 + 256 + 128 + 64 + 14

R4 = 7000-1¢

FHLUT 10000 — 22222020000
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Acz=6c
CYH= 10c
HHNE= 10«
AZYX = 10c
XMU= 5¢
AVU= 12c¢
VUIE=Z e

62

Te= (20m)" = G 4 dogn®
— 248 dont
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4 12 304
3 g a3z
1 2 /

L4
b0
58

4 18 24 4

3 6§ 50 148
1 2 s5g m

404 133

206 404

123435 4

36 14 Les
12 8 24
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6 15
3 12
6"/4’3 72
g Ay
1 2 %/?é 3 ¢ 24
31z %lﬂ,
AN8 o3z 17 Wy
/ 48 Nyy —_—
%ZéZﬁz 1
61
v oz ”
c Y =
2+l
jg? WQ&U‘?!MC
2a+3b 47,
H8 4+ 150 + 144

= 374
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cd &wZ@(C%ﬁO»&zQ{:O
D Com WM

Za~d
2a( a4 -
{L:M

2a-d

U510 7,

'6{:61‘9 =12

Way

d:g l?.i)” C:% %

72
M b=7




[ bpagl’ 6,12, //5} 18
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M a, b,

{a+ 3by Fe= 29
a +hb +10c = 38

c,:'_"?,..:g L::é? a= 4 S= M
c=2 _ L=3 o= 6 S=11

—> 5)501:
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BP0 + 82+ Fc =4
Cxpan. b= [3]
| Pacs

Mhz + 486% +?2/}/: §6

Y32+ 310y 412 = 1
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la| <10
[b1£ 9
e[ £ 38
a=2z
(E:B%M’f
€5, Iyl<3, 1)<




2‘?3:%5”“3?&2 + ’22/2/:’1// //’
145 52 + 12 =1

/:7?,/3/ ::*?2. )}::"({ )
/
(5,-2,-§) / / 62x7 =434

@-f -3, w
z)/

(‘323>

%VM

(~4,1,8)

(2, c): ('70} 77, -4§) —s 570F
(8} "’70/,**7)__)
(4, g, -2)
£, 5, 3)

("8; Z ) 2)
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7x+ Py =17 [17]
x+y =9 BZ]
-H% (57 0) :2;] i%
(4,1) -8
(3,2 -3
(2,3 —lo
(4,-3) 15
-5,-2) 14

45W
192 4 %78/ +’22/}: 11

(a,b,c): (10, -1 =%):
(8,2, °8):

F2F=5p 4 57x &= 45 ¢
_62 62x0 =124

5%0

?ZL(Z = %7‘6/,

,..3 _,1?
-4 -3

I3 438=58% 13

~(34 +93--749
148 +11= 180

5720F
j 220"
580F




el 61, §
uilailzﬁdiiégav (61 € 12 3 058 d

EAa Vi Wy x4 x2
395 ) (2xtix 6 xd
h41é . 5 ) > 10 por 476 /[ ( x12)
614. 1§ ' 3k{7m//(2x4xlx$)
X4

b44: 5+ 10

www.hp.com/calculators




